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' 1 l Numbers up to 1000

1. Write each of the following numbers in Expanded Form

words and expanded form. « Greater Than
. I..'fq-'l Thﬂn

In Words Expanded For
g_i) i iffaer; | J 10+6
& Bty —nine BESS

o, Eky - oge | [eot1

4 Bulee d 10t4

c{;zb i-\””t&t' fwo ol zor

6 B ior




h wing questions:

e ) .’an Jetter of each of the given numbers to sptﬁi

ol e g

+  The number just before it is )
» The number just after it is 200 .
(c) Write the numbers in decreasing order.

99 2% 61 59 43 B2 16

2. Draw jumps in 2s from 0 on the given number line.

5. Cﬂmpare the following using <, > or =.
@ 25 <30 (b)59_< 9 (c) 72_= =7

(d) 66 2 56 () 84 > 48 (f) 27_ L 46
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NUMBERS UP TO 100

[n class 1, WE‘hWE learnt 1- and 2-digit numbers,
Every number is 1 greater than the number before it.
The greatest 2-digit number is 99, read as ninety-nine.

{ more than 99 or 99 4 1 is 100.

It is read as one hundred.

pictorially, 100 can be shown as below:
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| 9 tens + 1 ten = 10 tens |
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JrCan you tell how
many tens make
1007
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F 899 means
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4 ones
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100, |- alsp know
100 iz the first

d-digit number.
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( Yes, 10 tens make )
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£ class Work |}

complete the following,

— Number Number nam
1. 10tens = L_i_; hundred = '1_1_,_,5 OHE, __l’]undﬂj
: ey —
2. 20tens = | 2 ] hundreds = ) 200 I’ﬁlﬂ_hUnATEJ
3. 30tens = : hundreds = _3 D _ Three hundred
N e k J tJ
4. 40 tens = L_‘k- hundreds = ) 400 fnur_ \Unay
5. S0tens = (5) hundreds = § so0 (  fFive hund
6. 60 tens = @ hundreds = ) gp _tj_{: _61_'2__!3111‘1 n\f
) e
7. 70tens = }\ij hundreds = :\ q.ﬂﬂ{ Sﬂ!ﬁl’l huncIlLJ
§. 80 tens = Lil hundreds = ) § &_? éhﬂkt_hﬂb_ﬂll&l
9. qf.- tens = [%9_ | hundreds = ﬁﬁ;—; J'.\l_].ﬂ.&_‘llﬂ:l.‘rﬂl
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Hundreds Tens Ones 1 Hundreds Tens Ones
1 0 | (101 1 0 2
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Hundreds Tens Ones - Hundreds Tens Ones
1 0 3 i 1 0 4




HUNDREDS, TENS AND ONES

Count and fill in the boxes. One has been done for you. ‘

.

{ hundred |1]ten

5@ R

4

ones = | One hundred fourteen
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. Write the numerals. One has been done for you.

(a) One hundred seven (b) One hundred thirteen m

(c) One hundred twenty-eight @3 (d) One hundred thirty-two m




5.

(¢) One hundred fi fifty

Write the number names.

l 115 I (f) One hundred sixty-four 16‘}

(y) One hundred seventy-six i 16 | (h) One hundred eighty-three 198 3
(i) One hundred ninety-five |_ 35 u (j) One hundred ninety-nine _,1 |

One has been done for you.

(a) | 118 ]Q ne hundred enghj;een (b) I_Z{}JOIIE. hun&m“‘"‘”ﬁj

(c) | 139 ]Ghﬁhun&n&ihnlf

(e) 157
'M%EM?}(H
(2) 179 :
: _Daaﬁnndwlmgtaﬂnéh]

hln{éﬂ

_Dﬂf.a lhun:l!etx {cw'{'jtlsﬂ'
Epﬂﬁhumlld .51?-{3 i
180 Drne hyndzed euj'nkj

(122 ne buodued ninebyeone® (158 Yone handied ineky-
Complete the table. diﬁh‘\:
| 100 1101 |T102 "H_l-ﬂ-'i- lo4 | 105 | 106 | 103 | 10g | 109 |
110' | 444 | B2 —113)__11&.__1i5__1.1£ 117 113__11%_
120 (191 | 122 193 Hou [19% 1961423 128 jQ_q_'
120 | DL 1139 1433 [ 134 |43% |138 |433 | 138 1331'
| 1401041 1180 1147 1144 (145 (140 |243 (149 | 149 |
150 1151 | 19281 453 (454 [ 15571450 | 453 [T158 159 |
6o [ 1611162 1463 [164 145 | 966 167 | 16% (169 |
130 | 170 | 17201433 (114 1135 | 436 [ 133 | 138 [ 129
1801181 | 182 | 183 (184 | 485 |18€ |187 | 188 189 |
190 1911199 [193 1194 [F957] 1961193 1QR | 199
Write the missing numerals.
(2) 101,103, 406 TSNOE SEOR 44 4G A ¥
(b) 124,125 026 TRE@DS DR OSSR R0 . 8
() 188, 189,2190 & je4Oq’ 490, S AQ% SNAGh . §
(d) 140,130, 120 410 400 .~ 90
() 199, 198, 193 196 195 _19:,‘.1-_,_195
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£ _Class Work )

Count and write the numbers.
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THE NUMBER 1000

Hundreds Tens Ones

2 ey | 9410

One more than 999 is 1000. It is a 4-digit |

number and is equal to 10 hundreds, or |

=
.
asg
T |
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NTIreTTIIe

100 tens.

The number name for 1000 is one thousand.

10 hundreds = 1000
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1285

249

296 |

! :,og

b2 304

S| 394 318 (216 |

=802 32% 1525
323334 | 3

345

T

565

335 |
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3. Write the numbers from 501- 600.

501
511

—
e ——

1521

5
512 |

531

529
532

| 541
554
561

542

552

503
213
923
533
543

h53

Sok

D14
524

595

534
544

535
545

505 |
| 515|516

536

506
596

546

507.|
Hog
527
237

541

518
528 |

S08

S38.
548

509/

55%

h55

h62

563

564

565

556

866

b2

1541 |
SB1 |

1591 (532

582

533

53

hi5

516

=559

377

588

| 510

519 | 526
1530

O40

550.

960

5338

583

584

58S

1593

586

587 | 588 |

59

600

595

4. Write the numbers from 651-700.

631

596

Q94

651

561

652

653

654

|

656

657 |

6€0

669,

663

664

655

666

663

668

610

672

633

665
“if_.?ﬁ |

‘g‘?q' ,

676

637

633 |

680

681

682

683

i

685

686

681

683

689

690

699

491

643

694

695

696

691

698 |

- 700

5. Write the numbers from 721-750.

+21

122

12%

4|

725

129

4 31

132

133

J34

135

436

Aot

eV

4

143

54

745

At

343
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932 [ 238 -A39 Fago = 981 FRg2 =R83 |- 98
I [‘:!‘E:: 992-991}{990=1984 |-1988 = 383 |+
994 [+ 99599 6—A97 = 98— 999 [={1000 o
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Did you ever help someone on the way? 'EXP"EF@-}'_uur ﬂ%* ~
thoughts on the following:

It is a good deed to help sumec’me'i-n need.




NUMBER NAMES

To read a 3-digit number, we first read the hundreds digit and then the

Jast twO digits together.

vo hundred |PE—

oFEm

713 is read as, ‘two hundred thirteen’ Eﬁmdng Aaua 15
gimilarly,

(a) 356 is read as ‘three hundred fifty-six.

(b) 760 is read as ‘seven hundred sixty’

e )
3

p—
T am

e —

e

helps to J

rememeper,

(c) 999 is read as ‘nine hundred ninety-nine’

1
. Write the numerals. One has been done for you.

Two hundred fifty-six
(¢) Five hundred seventy
(¢) Seven hundred forty-seven 343
(g) Nine hundred eighty-two 922

|

(b) Three hl.mdred seventy-one 37
(d) Six hundrecl mnﬂt}' nine £99
(f) Eight hundred eighty-five 225
(h) Nine hundred ninety-nine 999

. Write the number names. One has been done for you.

225 Two hundred twenty-five (b) 349, Mﬂnﬁlﬂ_ﬁ:ﬁjﬂhﬁ_

832 Ey

702) 2even nundyed fwo

(d) 516 Five hundved Sinteen
() 800 Ejghf 0

777 _ﬂmjmdxd_&mﬁg (h) 609, Six hundyed wine
hundml_eghiﬂ () 499 Foux_hundred winély-

afveh
Thyee

Mg

rov




e numeral wi s its number M hundred twenty-fiy
jx hundred seVenty-tug:
Nine hundred €ighty-nipg
Nine hundred sirty*thrig
Eight hundred ninety-cig,
Seven hundred ninety-se

Three hundred nmety lin

.
| % (c) 408 %9
®) |:s£+j 765_ ==

(e) 5355,4— | 3%%:

® (5194

& = o~ i =gl
(b) | EZSJ;:E_?“_% (c) | 842 )|6

= ———
(e) ’?’39 9 1390 (f) | 990 'i,%"

? -Wﬂtﬂ ﬂll! nmbers Just before and after the given numbers.

(a) m} 1% @) 6511632 g3 © fan :-;m}
435 436 43} (e) ?5:;1#5:12 ,5o§ (f) l-sﬁiﬂh?@

7. Write the niittibet oz numbers between the given numbers
|2?3 | and ZEG 1‘:1-:1 (b) siuil_fJ and | 454 450 Z, 38

(c) ?FJ and Sﬂﬂ I i T () 64_) andlﬁﬁl gqq 55‘3
(e) |'525‘ and 535‘655 |631 ESl GE& Q'ﬁq :
) (864 and 870 G¢s 66 863 B8 §69
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pLACE VALUE AND FACE VALUE

« The face value of 3 digit is its actual value.

« The place value of a digit depends upon its (* Face value of 2
PlaCE in thE n“mbEI’. d'rg'rt. i a number
never changes
Consider the number 532, | whereas [t place
value changes with

H T O] The digit 2 is at the ones place. . ' | theplace. )
= The place value of 2 is 2 ones = 2 |
The face value of 2 is 2.

e

The digit 3 is at the tens place.
- The place value of 3 is 3 tens = 30
The face value of 3 is 3.

The digit 5 is at the hundreds place.
~ The place value of 5 is 5 hundreds = 500
The face value of 5 is 5.

= 1"«4"1

Mk R TR Rl e T R SR R ‘E lj‘}
; ¥

-

-

1. Write the place value of each encircled digit.

@ 6 4)stens ® (3)3 8 3hundveds
© 2 9(5) 50nes @ (3)1 5 @ hundveds
© (6 4 8 Shundseds 6 1(8)7 $leng

2. Fill in the blanks.
(a) In 683, the digit 8 is at Ii—'ﬂ&_ place.

(b) TIn 720, the digit 7 is at hﬂﬂdﬁplace.

(c) In 958, the digit 3 is at ones place.




0 374, the place value of 7 is hundyels the face value 0 ;
()0 483, the place value of 4 ishbuabieds, the face value of 416 2
. - ._"- 4 ' _ - ! ar " [h
\¢) The face value and place value of a digit 1n a nymbeK s fie >ame

ONeS_ place.

'he sum of the place value and face value of 5 in 750 is —53__

U BOtH - 50

T o
Ny
\d) -

-

Z:';ﬁﬂ"fra?s on each set have to be marked with letters H (hundred), T (tens)
1

y and O (ones). Besides each set of boxes or trays, the teacher should have a set

:'uf' 30 buttons or counters of the same colour. A set of 30 different culnureﬂil]
: buttons can be ysed for the other set. |

s Now, divide the children into
I

:
|
two equal groups. |

, Turn by turn call one pair of students, one from each group. Give each of them
: different 3-digit numbers in word form, say 215 and 407. -‘

 Each child according to the number

_ given to him/her has to put mm‘tit'-]
i number of buttons in the correct box. |

| : For 215, 2 buttons in H tray, 1 in T tray and 5
 other child at the same time puts 4 buttons in Ht
1 O tray. Give 10 seconds or whatever time the teacher decides to each pair. |
 Repeat this for another pair and so on and so forth till al] the children have |
| got a chance. The team with the sredler number of correcy eéntries winE!
! the game. [

in O tray, Similarly, the
ray, 0 in T tray and 7 ml

!




NDED FORM

There were 367 visitors for the school exhibition today.

The number 367 can be represented with blocks and by the place value
chﬂ["[ as shown bEl{}w;

R 5 BB aE
-
HHH B i B (]
Hundreds Tens Ones
3 6 7

S0, 367 = 3 hundreds + 6 tens + 7 ones

-

PLULTT ST BT EL TR
=300+ 60 + 7 E The expanded form of a
= 3-digit number is given
= by the sum of the place
= values of its digit in
Standard form: 367 & hundreds, tens and ones

¢ ‘% E places.
Expanded form: 300 + 60 + 7 IE NI AN EERYIEEEERLA

Thus, the number 367 can be written in
different ways as:

Nosentenngnannanan

Word form: Three hundred sixty-seven

_
. 1
- .F i

1. Write the number of hundreds, tens and ones for each number and hence
write each number in the expanded form. One has been done for you.

Number | Hundreds | Tens Ones Expanded form

200+ 50 + 6 |

i 300+ 20+7
3 doorFO¥3
9 700 + 80+ 9

i | 800t 00+ 7




| % Complete the tapje with the help of the first

Word form

row.One has been done fo,

‘ {a) | Three hundred twenty-five | 3 2 1 5 |300 * 20: 2| 325
(B) 1Six hundred twelve 64 |2 |600t10%2 649

' @ Iwo hundred thirty-six 9 fig_igﬂ t30+6 1236
= Eﬂ-\ﬂ-‘!mmludiiﬂ_“;g[g k I‘E ¢, l4on¥Goth | 6

‘, (e) ﬁ'—‘hlﬂﬂldigbjmné 616 1 [Gont+eokd | —ﬁﬁ.l,_‘_‘_

(© 500+40+9-549 (
(€) 400+70+3- 432 (f)
(8) 300+0+4 =304 (
Write the fnﬂuwing in expanded form.
(8) 365=300 + 60 , &
€ 827=800 + 20 , 7 (g
(e) 405=%00 + 00 , 5§ (f)

900 + 10 + 7 = bt
q00°+ 200% 6= 8 208
00430 4+3=_T23%

"
200+ 30 +0=_<230

(g) 719=400 4 10 +_9 (h) : 1=+ L
THREE-DIGIT NUMBERS ON ABACUS o)
ens !

‘ A spike abacus is a tool that gireamresmasninsiauing | Spike ¢
has beads which slide on rods ; Hundreds : 177 | ol
(called spikes). i, Spike 3§ : Spike ‘
Each spike represents a different ﬁ llllll e
place value. From right to left, iSpike 3——-—.- |
the place value of the spikes ‘ 1———-'“]?.-;55]
increases in order from ones

to tens to hundreds and so on.
.'.f-‘_‘-‘\‘

%

| J[‘} |
'aP




xﬂmﬁ{f I: Count the number of beads on the spike at each place
and write the number,

IHTOI

Solution: There is one bead at the hundreds spike, zero beads at the
tens spike and zero beads at the ones spike. So, the abacus represents

L hundred + I%Qu tens + L0 ones =
One hundred

Now, observe the following:

.

|2 T of jair of
-1 hundred + Eﬁ;tens ‘e E&" ones @hundreds + {0V tens + £2) ones
= @ One hundred fifty-three | = @ Two hundred two

6 hundreds + @ten + @ﬂnes rZ@hl.u'u:h*ed:; + L2 tens + 10 ones

= Six hundred fourteen = Seven hundred seventy

ov

" oy




Py -F'-..""'q_r..___.. '
P

P
o
.r.._."‘r




(j) ﬂ. Jl (k) I (1) l |

3 8 |
- 8 R R _
o ) §

mumm sli:mm;uL Em_ hf_mdzui
Sﬂﬂ_ﬂ_@_:f_ﬂuﬁ_ “l’hlﬂj (.

2. Draw heads to show the given number on each abacus.

(a) (b) (c) l l l

IHTUI IHTUI IHTGI IHTO'

—

E ThrEE hundred E Two hundred :! Nine hundred
: E eighty-nine |

l
i i

forty-five ~ §! seventy-nine ;! five
) L

i ni—— i S — . R L T e

COMPARING NUMBERS

We compare the numbers using the following rules:

Having different number of digits
The number with greater number of digits is the larger of the two.

BEReE 214 (> 6 415 (> 72
3digits 2 digits 3 digits 1 digit 3 digits 2 digits

.
] FOv



of digits o numb
bq-ﬂf mithﬂd to compare IT:I‘I I3
; e_asym- - e place yalue € 1
_______ 135.15 us gplace e osition from eft to v,
mth‘é- same place < _
1* g ﬁﬁ&;&é;ﬁdﬂ Jre different then the
*’l;xa-% - digit is blgger
]!are 545 and 358

ﬁlt. we have

JF

H
et
513

SD, 545 > 353

vstm is greater th*m 3”“

———'-'

L |_|_._

K -"‘]5 he d}gﬂs at the hundrecis place are the
onto and compare the digits at the tens pla

----- same, then we moye
ce. The number wigh

Bithe: greaier tens. d:grt is blgger
Example 3: Cnmpa_re 780 and 795.
Solution: | b
| ! Compare the hundreds
| p2 8 0 =
74 9 5 :

£ ? Compare the tens.
So, 780 < 795, 80 is less than 90. d

# If the digits at both hundreds and t..E.n:E. Piﬂ'ces are the same, then
i. compare the digits at the ones place.




prample 4: Compare 467 and 463.

. Write > or < correctly in the boxes,
(a) 119 <129 (b) 243 ;232
(d) 864 > )52l (e) 632 4 723
(g) 540 > 524 (h) 873 (£ )89
G) 77 > 44 () 602 <820

. Ring the greatest number.

(a) 623 264 (b) 233 345

3. Ring the smallest number.

(a) 925 445 (b) ?15 826

ORDERING NUMBERS

Ordering numbers means writing them from the smallest to the greatest

or from the greatest to the smallest.
A\scending and Descending Order

# When numbers are written in order from the smallest to the greatest,

they are in ascending order.

. !‘ﬁ':i’t 1G B e W N L WL WS
.

Compare the ones.

7 is greater than 3.

Colution: 1 Compare the hundreds.
A 400 = 400.
H T .0 ‘
4 7 | Compare the tens.
4 6 3 ll 60 = 60
e .
50, 467 > 463,

(c) 350:< 3367

(f) 4891 < ;498

L

(i) 901> ;899

(1) 954 <J 999

(c) 615 516
(c) Sﬁﬂ 729

x4




PRE :.:-_.?-*1

_example, 48 117, 235 and 572 are

—

Ascending Gr%
T increasing order.
| iﬁﬂﬂtﬁﬂding order.

cn Mumbers are written in order from i)
the! great Pasnatl
decreasing

T 4

]
o Eee

0 fitten in ﬁfﬂ“ﬁéﬁﬂing,nrder.

“’?H&@af’lﬂﬁg‘mﬁe chart to order numbers. _
Exan ple 5: Arra, ge 183, 475, 273, 391 in increasing and decreasmg%
0’ _'I': st,.ﬂwe arrange the numbers in the place value L‘han‘

HT O]
I 8 L3
ol 9 .1

-

Compare the hundreds: 1 <2 <3 <4

S0, the numbers in increasing order are 183, 273, 391, 475.

The same numbers in decreasing order, that is, from the greatest to §
smallest will be 475, 391, 273, 183.

Example 6: Arrange 675, 657, 603, 654 in increasing order.
Solution:

L‘ Step 1: Compare the H T O gl SFEP 2: Compare the

| digits at the hundreds -6”:__ 7B digits at the tens place.

: place. 4 ) EBNC5T T 'J 0<5and 5<7

: ; :ﬁi i 1: & o8 0 3 ' 50, the smallest number is

. i L 8 <l 4 | and the greatest number is 6
Ml s




Now, We need to compare the ones of the two numbers with 5 at tens
place. We see that 7 > 4. So, 657 > 654.
Hence, the numbers in increasing order are 603, 654, 657, 675.

: - ¥ _ r- [
m B i T N S E'J"l
-~ g

1. Arrange the following numbers in ascending order.

. #

@ 31939328383 (349 |(398](383 |[291

b) 236,615.143,789  [443](036 |[¢ 15/(389)

P,

© 89391588, 99 (493 ](@q3|[q09|[915

2. Arrange the following numbers in descending order.

-I r~

(a) 117,171, 177, 135 1??_ ﬂ-?‘l[j_?}fi ii.‘,l.il
®) 154612 345,80 (890](612 |(345](154
© 467,860.318,460 860 |[46%](460)|(318)

|

ig Mental Maths [} § 21%tcs

Answer the following questions.
1. Write the number that comes just before 680. _E.la L

Which is greater: 742 or 7242 5 s
What is the place value of 9 in 9357 MTEC&S
What is the sum of the face value and place value of 4 in 3487 40-
Write the number that comes just after 535. _556

Dok




-
q 0 ]

? Write in both slnndam_._

ml er does each abacus show

2. Compare. Write < or >,
e e Yk
- (@) ﬁﬁﬂ-ﬁe_ﬁ}

) ‘_--rg.'ufllﬂred twenty-nine Z_, 72
. (b) 32814 300+ 40 + 5= Rl

(c) 870 \Z) 8 hmﬁe%s4? ones

MCQs |

Tick (v') the correct answer. (Q. 3 to Q. 10)
3. Six hundreds and eight ones is the same as

(a) 806 (b) 860 (c) 680
| |' ‘ 4. Which abacus shows the number 5467
1
|[
. v
fl"- 5. The largest three-digit number is

- -r-l—!-':

(a) 900 \/EJ 999 (c) 199

| I*-.': *
R v Y




6.

7

8.

9.

Which of the following numbers is greater than 5 hundreds but less than 6
hundreds?

(a) 499 (b) 650 \(f} 575 (d) 600

Which of the following sets of numbers is arranged in decreasing order?
(a) 748, 784, 874, 847 (b) 847, 874, 784, 748

(c) 874, 847, 748, 784 ) 874, 847, 784, 748

Which of the following expressions is false?

(a) 345 <496 M7 2 hundreds 4 tens = 204

(c) 6 hundreds 9 ones < 690 (d) 994 > 949

The place value of 8 in 805 is
(a) 80 B) 8 o () 88 ) 800

10. T am a 3-digit number. My tens digit is 3. My ones digit is two times of the

11.

hl2.

tens digit. My hundreds digit is the sum of the tens and ones digits. What L
number am [? B0 |
~
-

(a) 396 (b) 639 | (ey” 936 (d) 963 q 3

Fill in the blanks.
a) The numeral for ‘eight hundred ninety-eight’ is 298

L

b) The number name for 580 is
) 479 in expanded form is Gon+ 3049

d) The smallest 3-digit number is _i{lﬂ_
e) In 210, the digit 0 is at the _0OWNL.S  place.

Write ‘T’ for true and ‘F’ for false.
(a) 450 is 45 tens. ‘ T J

(b) 100 less than 975 is 865. [ F ]

(¢) Place value of 6 in 860 is 60. i i ‘
(d) 9 tens more than 700 is 709. { =l J
(¢) The smallest 3-digit number is 102. L: }




"us'tﬁuntries
N
ifthﬂ m,#tbhr 18 between 1 and 40.

B d -'fmm%ﬂbe‘r 18 between 105 and 124.

the number is between 201 and 243.
1
@@Fnﬁmher 15 between 451 and 498.

“&Fﬂ‘lﬂ number is between 510 and 540.
’f the ﬂuIHbEr 1S between 718 and 769.
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Write the number shown by the dancing blocks in each picture in standard
as well as expanded form.

Ib
|
|
B
'
B
|
B
¥
I
F
I
i
|
¥
8
E

@- W0y GOy D -~j‘n=+;in+5_
Now; write the numbersii in a row fmm the greatest 10 the smallest.

@24) (345) (606) (B60) @55) (423) Gu5 ) (262)

‘|‘ £ = M| q

(2% 3 eI

I T 1n|l1 ||'.L‘ 3 *
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=i 28 e




